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Q1.49Te] HYTET & 3&TeXVT § -Examples of current assets is /are:  (a) Uhs (Cash)  (b) 3ifa# Wi (Closing Stock)
(c) &eRr (Debtor) (d) 3=# @I (All of these)

Q2.3/EUrlT (adAT) affica sgl §-_ .| .is not a Current Liability:
(a) STGRT Debtors (b) & faer Bills Payable
(c) semr  fRaT Outstanding Rent (d) @R Creditors

Q3fags gl cgat g gifaat & A1 aur FefT 3t U9 Wt @ S @Fsleyud g (The rule 'debit all expenses
and losses and credit all incomes and gains relates to):

(a.) cafFaera @rar (Personal Account)

(b) srEATT @rdr (Nominal Account)

(c) arEdafas @rar (Real Account) (d) 318 & s A& (None of these)

Q4378 § Pl IT AT HUT T §. Which of these statement is true

(a)or@iersT T faaTe §(Accounting is Science ) (b)el@iesT T& 9T & (Accounting is a Profession) (c) @i TH
el § (Accounting is an Art ) (d) 3RIeFa Al of these

Q5. FFAf@d & @ Tl a@ea & &7 § fJarg (All of the following are the functions of accounting except:)
(a) uRAIHT (Measurement) (b) fA0Tg= (Decision-making)(c) YaTe#Te (Forecasting)

(d) Tdlelr (Posting)

Q6.7 a¥ & 3w H ¥2,00,000 HeI & Al 99« & d1G X 10,000 T 3w gfadr a7l Ig ¢ (At the end of the
financial year after sale of goods worth ¥2,00,000 there was a closing stock of ¥ 10,000. This is) : (a) T et (An
event) (b) olsT-¢aT (Transaction)  (c) &=l (Both) (d) 3 & +Is =18l (None of these)

Q7.3 ®H & FAY IFT H ¢ aq9d ST ¢, Hgelldl & (A person to whom money is owed by a firm is

called):
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(a) &=aR(Debtor)  (b) @+TaR (Creditor)  (c) 3mqfeia (Supplier)  (d) fasar (Seller )

Q8.%f3¢ & 31 § (Meaning of Credit is) :

(a) 38% faw &F (Due for that) (b) 3T T (Due to that) (c) (a)3R(b) &=t [(Both (a) and (b)]
(d) 378 & *Is A& (None of these)

QY. AFfaf@d & ¥ Fl Rl TFEIfy &2 (Which of the following is a LIQUID assets):

(a) 1@+ (Building) (b) 87 (Land) (c) 9ded =T (Prepaid Expenses)  (d)3&3 (Cash )
.Q10.9MAAd: A & @l 38 AT fHar Sar § 9 (Revenue is generally recognized when) :
(a) 3cdest qUT BT & (Production is completed)

(b) ST&F @& T &L e giam & (Order for goods is received)

(c) ST9 a&q T YN & Sl & (Goods are delivered)

(d) 519 € &1 HeT 9Ied gim ¢ (Cash is received)

Q11.1hE IAURCT & AR 3o AeT-Sail @Y, e HaT & &9 & egekd fohar ST Fhal &, G Tl & AT fohar Sirem
arfgu? (Which concept requires that those transactions which can be expressed in terms of money should be recorded

in the books of account?

a) A% gHTS (Business entity) (b) HaT T AT (Money measurement)
(c) gfa-uge] 3r@urom (Dual Aspect) (d) 378 & FI$ AL (None of these)
Q12.39rsi I gyuRoem 3menika § (Accrual concept is based on) :

(a) &fa-uge] raUROT W (Dual aspect concept) (b) @ImeTe 31gEem 9T (Cost concept ) (ORGEIGEEELIES
9T (Matching concept) (d) 378 & :S A& (None of these)

Q13.@ieheT FATRIUT___ 9T MR & (Accounting equations is based on

(a) TTe STGET FFe=H IHGYUROM (Going concern concept)

(b) gfaushar 3rgemyom (Dual aspect concept)

(c) F@T U IIURCT (Money measurement concept)

(d) I T (All of these)

Q14.=MUR & A G@RT 39 G & fAT sqr) & Aohs Tl TATE Wl TleT a7 508 Aohs A &alt el i A

FAT g9l The effect of purchased of Smartphone for the son by the owner from the busines will be- decrease in cash

and decrease in
(a) V=3 (Cash) (b) sl (Capital) (c) 3MeYoT (Drawings) (d) ®#afd (Asset )

Q15.34R FArR Tl WX TFURT dedr & 3R g _ & gl §1 (Furniture purchased on credit will increase asset

and liabilities will__
(a) &R (Increase) (b) F# (Decrease)
(c) S gog =1&r (No effect)  (d) 35 & #S 16T (None of these)
Q16.919T WaT____ ¥Fdfewd ¢ (Building Alc is related to) :
(a) SafFa® @I & (Personal Alc )  (b) aFdfds @I & (Real Alc )
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(c) sTHATT @1 ¥ (Nominal A/c) (d) 37 & FI$ A& (None of these)

Q17.3myfeleh FIfehoT & ITHR WiaT 1 vkl #7191 & dler 31 8.(According to modern classification how many types of

accounts are there @

(@) @ Two (b) dieT Three (c)dR Four (d) 9 Five

Q18 ¥ #AG 1 AFT F Headid @aiighd HIfAT (Classify each items under) :

A+IgR (Creditors):-

(a) 3 H (Revenue) (c) C‘I:\Gﬁ (Capital) (b) =@a (Expenditure) (d) arfdca (Liability)

Q19.9 WItqar S AT SAEAraes Ifafafar & ured giar & (The receipts received from normal business operation is
called : (a)Fel WITCcrl (total receipts)  (b) Yot wmiceral (Capital receipts)  (c) 3M9TId  Wifeal (Revenue receipts)
(d) 3=13¥ S A& (None of these)

Q20. dd= Qrer, THIAT WIdT, STl Widl, Helgd! @rdr, e -& ¥ 3¢gRoT § |Salary account ,Rent Alc ,Interest Alc,

Wages A/c are examples of

(a) arEdfds @rar (Real Account)  (b) YaieTd @id(Capital Account ) (c) 3raredidss @rar (Nominal Account)  (d) &a%
@ra (Expense A/c)

Q21.3Tg @Idl &I AY HAGT & HhdT .(Expenses a/c cannot have __ balance.)

(a)shf3e(Credit) (b)3faT(Debit) (c)FHATA(Equal) (d)3eTH & IS sTal (none of these)

Q22 @A HEIA: ___ & &9 & Sl Sl & (Ledger Book is popularly knownas )

()@l T FET FEI (Principal Book of Accounts)  (b)Tdl &T T FET (Secondary Book of Accounts)

()Tl T HEIS &I Subsidiary Book of Accounts  (d) )3TH & @IS A8l (none of these)
Q23. ST & fFeY @rar F od-¢at i o fr ufsear v gl SIldr %’ (The process of entering the

transaction from Journal in an account is called):

(a) Y fATer=AT (Balancing) (b) STATSTSAT (Journalising) (c) SIS ST
(Casting) (d) @dlsir (Posting)

Q24. A9y =gt &1 @iar # AT BT & (The miscellaneous expenses account is likely to have) :
(a) % sfae wfafSear (Only debit entries ) (b) A% Hfse 9fafSedm (Only credit entries) () 3TRIFA Gt
(Both the above) (d)3sT8 & @IS A&l (None of these)

Q25. d¢cT WIdT ol Bﬁ%ﬂ' m %’ (The Discount Account always has) :

(a) A% AT AW (Only debit balance) (b) A% STAT AT (Only credit balance)

(c) T AT (Nil balance) (d) ST AT STAT AV (Debit or credit balance)

Q26. s @I FT AV AT T & (The debit balance in bank account indicates) :

(a) S FI T THHA (Amount payable to the bank)

(b) S CEIRY f&IT 31T FOT (Loan given by the bank) (c) 9 & V=3
QY (Cash balance in the bank) (d) 31 & FI$ &I (None of these)
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Q27.. flih? ER?IEF & fﬁh_s' e HT AV Tea @Fﬂ %’I (The balance of Cash column of Cash Book is

(a) 3T (Debit) (b) 3T (Credit)  (c) TATT (Equal) (d) 3T & HIS =T8T (None of these),
Q28.9fa qﬁﬁaﬁ_"aﬁr H Fr ST gl (Contra Entries are made in _____ book..)

(a) U3 TF S TaFEH arelr Ashs CH H (Cash book with cash and Bank column)

(OREERE] BC EAFH qrell Uhs dgr H; (Cash book with cash and discount coloumn)

(c)a%:F L Bc EAFA arell Uhs T H (Cash book with bank and discount column)

(d) 3 & T@HT (All of these)

Q29. Uhs ST Uh____ TP gl (Cashbookisa___ )

(a) F8TeT TETH (Main book) (b) HeTIeh JEA (Subaidiary book)

(c) FHARR 1':|1'4¥|7=|~7(Memorandum Book) (d) ¥ Hsfr (All of these)

Q30. (s g UREHF o & Yy Grar it %’I(Cash book is an original record as well as a ledger for

account.)
(a) S (Bank ) (b) W3 (Cash) (c) Yol (Capital) (d) 3o & IS & (None of these)
Q31.3%3 d8r FT Teh UIRT g (Cash book is a form of) :

(a) deTIe (Trial balance) (b) @TATEET (Ledger) (c)ASTATEAT (Journal) (d) 3T F@HT (All of the above)
Q32. doUe & AN & g AR & ST g Accounts are prepared by the Trial

Balance.) :

(a) STTFAIT (Personal) (b) 8 (Depreciation) (c) 3Tfed#T (Final)

(d) 38 & FI$ G (None of these)

Q33. I dore & aleAr gall &1 AT AT J8 urar § ar 3fea? & TR A "gEdledNd AT & SArer

gl (If there is no agreement of two sides of trial balance the difference is transfer to

Account.
(a) STH-BITT WIAT H (Profit & Loss A/c) (b) 37T fIeS & (Balance Sheet).
(c) 3Ted WId H (Suspense A/c) (d) 35 & FI5 &I (None of these)

Q34.8F T AT T P I SERRT & & A T Jode A, wiaar a8 fo@r Srar § (If the

cost of goods sold is given ..stock is not appeared.) :

(a) 31fed# (Closing) (b) IRTFH TAT HTedd (Opening and Closing )

(c) IRTF3H (Opening) (d) 38 & FI$ 77T (None of these)

Q35.delUc "gFeer edr $r ST T & fIT IAR=™T ST &1 (Trial Balance prepared to check the

accuracy of book.):
(a) ITOTART (Arithmetical) (b) T&AT (Financial)
(c)a 3R bamr (bothaandb) (d) $FI?ET T Elﬂﬂ'é el (None of these).
Q36.de19e &I fIAware § (Features of Trial Balance are) :
(a) T 3fedd Wid daR el & ATUR ¢ (It is the basis for preparing final accounts)
(b) Tg Qrdr T IR & (It is summary of accounts)
(c)TE 3O Q_l_,a\'iFIT FT JAT & (It is an evidence of arithmetic accuracy)
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(d) 3URIFT THT (Al of the above)
Q37..t% IFYUROT & v caraaide 3uhA e dfosy & o ar o<t e ar Jafea geft, swgemdr § (A concept that a

business enterprise will not be sold or liquidated in the near future, is known as):

(a) dre] e¥ad (Going Concern) ((b) cTadrd #Hr FAED gaTS (Separate Unit of Business)

(c) HAIfgew zHS (Monetary Unit) (d) 318 & #1$ 18T (None of these)

Q38.315d =gl A Y & Ied A AH-gIA W # hH Rgued & 3gar afAer fFar Srar 872 (Outstanding expenses is

included in Profit & Loss A/c at the end of the year according to which concept ?)

(a) AT 3r@YUROT (Matching concept) (b) JoT YehelaoT 3T@UROT (Full disclosure concept)
(c) 39TeisT 3@EROT (Accrual concept) (d) mﬁ\ﬁ‘-ﬂﬁ I 3@YROT (Going concern concept).
Q39.3m ffHTT & 3TAR oi@Tehel 3afer gl § (As per Income Tax Act, accounting period is) :
(@) 1 SJI=1adr & 31 fg@FsX a& (From 1st Jan. to 31st Dec.)

(b) 1 30T & 31 AT as (From 1st April to 31st March)

(c) 1 s & 30 ST d (From 1st July to 30th June)

(d) 1 31FgeR ¥ 30 A+ @ (From 1st Oct, to 30th Sept.)

Q40, STTTHEEY &1 37T § (GST Stands for) :

(a) WPR TT AT X (Government and State Tax)

b) @ Ud &ar & (Goods and Services Tax)

(c) eI T AT (Gujrat State Tax)

(d) @& 3MYfct T (Goods Supply Tax)
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